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LIFE SCIENCE
Environmental Biology, Genetics and Evolution

Time 3 Hours| . (Max. Marks : Reguilar 85 / Private 100
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Section A, B and C are compulsory for all Regular and Private students. Please
follow the instructions, given in each section. Marks distribution for all students
are as shown in question paper. The blind candidates will be given 60 minutes

extra time,
weg o : e Section A : Objective Regular 15x1=15 / Private 16x1=15
(1) AR (w) ==
() avar=r e & R (‘z]ﬂmﬁﬂ‘l
Hydrophyter exchange gages through : '
‘n} Lenticels (b) Stomata
t¢) General surface by diffusion (d! All of these.
2. MUH TRV (O FFHEA) H ooovveemmes TR AR Y
(1) FErg STEET (x) wifgw (7) wfEsire angd (z) wor (wnfiat) |
The pioneers in xerarch succession is : ‘
(a) Crustose lichen (b) Mosses (c) Fohose Lichen td) Shrubs.
3. e ¥ qitfeefaw oy w1 3o Rrofie oz
(51) I=1 (a) Hors (3) dan (=) sfrfer dr & |
Pyramid of energy in a pond ecosystem is always :
(a' Inverted {b} Linear (¢} Upright (d) Irregular,
4. P ¥ & &7 ¥ dfape (Rfrw 953F) B . Which of the following is secondary pollutant :
(a) CQ, (by CO (e} Qg (d} 80,.
5. uymfaun geelid gy & oo Fawwar &
(1) F7qw (%) %7 (@) mar (=) a1
Rhizobium has symbiotic association with :
{a) Legumes th) Non-legume ‘c) Sugarcane (d) Paddy.
6. P i 2 7w uF e Ry gede (s sm o b
(3} CFC () Reaify (8) NO, (%) STgwr ot |
Which of the following is ozone depleting substance :
tar CFC tb+ Freon (e) NO, td) All of these.
7. ygef warf¥er w 0% weEget e b
(=) Rraifar , () frofafes amm (8) 7z (g) yedfea |
An important example of incomplete dominance iz :
ta+ Drosophila (bt Mirabiliz Jalapa  (c) Pea (dy Cucurbita.
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8. Rweton war & F, ST 84T ¥ © The F, ratio in a dihybrid cross is :

(a) 3.1 IlJI 9:3:3:1 te) 1:2:1 d: 7:9.
9. W S e rreqy ¥ g ¢

(&) e (w) v (8) sreretry (2) T & 0 A8 )

Croasing over occurs during : S

{a) Pachytene (b) Diplotene (¢} Diakinesis td1 None of these.
10. 0% W sk F1 S @ € 2 The ratio of complimentary gene action is :

(a) 9:3:3:1 (b 97 c) 133 (d) 12:3:1.
11. 2n - 2 /e FEdt €

(=) Aeivandy (%) srwedrardy .o (8) Tt (%) o & v 74 |

The 2n - 2 condition is called as : '

(a! Monosomy (b) Nullisomy (¢) Trisomy {d) None of these.
12. Py 3 @ # Ieafteshe @ § -

() UV R (w) wrar fc (¥) X Ree¥ (=) v & wnf okt |

Which of the following is not a mutagen :

ta) UV rays (b) Gamma rays (c) X rays (d} None of these.
13. w WATFEL coooerovrmsersnemson mﬁ_ﬂ' % .

(st) ohtm (%) el () (%) ¥ & ¢ 7 |

Interbreeding population is termed as :

‘a) Genus ib) Species te) Race (d) None of these.
14. Frer 3 @ fy “draa & s Rem Rar o .

(3r) #ume (7) Rt () e () wifdT |

The idea of the "survival of the fittest” was proposed by :

(a} Lamarck (b) Griffith (¢) Weizamann (d) Darwin,
15, #rr Infad & -

(3¢) woy T FavdY aftwT (%) vy et et oftefy

(&) &Y (a7) 2y (w) (z) wr§ =6 |

Gene mutation is :

tat Continuous and permanent change (b) Discontinous and permanent change

ic! Both (al and (b (d) None.
o ¥ : §Y IAOW Section B : Short Answer Regular 5x4=20 / Private 5x5=25

1. P i & Rl ow ar Rt Ryfe
(%) arg & far & wry guwr
(w) v = Rftf
Write note on any one of the following :
ta} Food Chain in Grass Land
(b) Pyramid of Biomass.

2. et Rrfre : (w1 ow)

(%) s et (@) VAM.
Write note on : (any one’
fa) Acid Rain ib) VAM.

3. ) e & sy war www & > JEnwon S SR |
< What do you understand by Epistasis 7 Explain with examples.

e OR
for waradt remEs TT fw R

Write a nots on zex linked inhernitance.
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4 P 0 A R ow or Roi fafe

(&) w37 figm (w) =z figrr |

Write note on any one of the following :

ta) Down Syndrome (b) Turner Syndrome.
5. wifame 9% ¥ fafarg |

Write a note on Darwinism.

sgar OR

wiif fr=ef fgw g |

Explain Hardy Weinberg Law.
W ¥ : OF e Section C : Long Answer Regular 5x10=50 / Privats 5x12=60

1. spewor & weW & weedia SgFem & aueTsy |
Explain xerosere with respect to ecological succession.

anar OR

wwgfiE SEET I #fkT FAAET |
Explain the hydrophylic adaptations with examples.

2. o wpver & ei, gfe o Fftw owmEY F aofa @
Deseribe sources. nature and biological effects of water pollution.
svar OR

Ao = W e & JaeEd |
Explain Nitrogen cycle in detail.

3 o fafree (R oftat) & s o awed ¥ e Reaffy war st St s |
What do you understand by crossing over ? Write its mechanism along with ite importance.

g OR
Freroft iy -
(&) Hzw & awwfe & Faw (w) Faeer
Write note an :
ta) Mendel's Laws of Inheritance (b! Linkage.

4. prgim Rogw war & 7 serees orgig o B geerd o

What is chromosomal aberration ? Describe the numerical chromosomal aberration.
ayar OR

Jmaftad= v § ? Softeds & anivas s & awengd |
What is Mutuation ? Explain the molecular basis of mutation.

5. wamdreTor (sffeowe) o A fafe )

Write a detailed note on Speciation.
sva OR

Prfrer T A qaaRor afisait #7 avfr A )
Describe different typee of Isolation Mechanisms.
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